Best model for HELP J120542.940-011551.583 at z = 1.342 x2=6.17
OPTx2=7.8 IRy2=3.55 threshold (OPT IR)=18.73 [um]

102 E Stellar attenuated
i e Stellar unattenuated
i m —— Dust emission
101 E []\ —— AGN emission
E [l
E = Model spectrum
] ® Model fluxes
100 4 [ oObserved fluxes
> :
= .n- T, :
e 107! 3 T M :
= Jogeryeomer et .
pas 5 :
=) -2 -
T 10 :
10—3 4
10—4 4
pad
=
0%
S ] B —— (Obs-Mod)/Obs
3 ]
S ]
b ]
& of--f-A{-----------—--- FHE == —mmmm e
) ]
2 1 i
5 ]
© -1 'I""'I T T CIGALE
o 10° 10!

102 103 104 10° A
Observed wavelength [um]



